MathVine - Pre-Algebra

Converting Decimals to Fractions

Convert the decimal to a fraction.

1) 0.574

4) 0.955

7) 0.69

2) 0.155

5) 0.221

8) 0.171

Name

Date

3) 0.348

6) 0.129

9) 0.493

Period



Period

|
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Converting Decimals to Fractions Date
Convert the decimal to a fraction.
1) 0.574 2) 0.155 3) 0.348
287 31 87
Answer: 500 J Answer: 200 Answer: 250
4) 0.955 5) 0.221 6) 0.129
191 ( 221 129
Answer: m Answer: m Answer: m
7) 0.69 8) 0.171 9) 0.493

69
Answer: 100
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o™

171
Answer: 1000

Name

493
Answer: 1000

|




Converting Decimals to Fractions Date Period

Solution Steps

1) 0.574 2) 0.155 3) 0.348
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We can wrrio,ts 4 We can wriltg5 We can wrgz 3
0.574 = 1000 Meaning 0.155 = 1000 Meaning 0.348 = 1000 Meaning
5 % 4:thousandths 1 15§5thousandths S?ff&thousandths
1000 can be reduced, since 1000 can be reduced, since 1000 can be reduced, since
2 is a factor of both 574 5 is a factor of both 155 4 is a factor of both 348
1, 0Q0: 1, 000: 1, 000:
L 000 oer gt 000: 4y PEHUT g7
1000 ~ 2 =~ 500 1000 = 5 — 200 1000 ~ 4 = 250
The fraction is now in The fraction is now in The fraction is now in

lowest terms lowest terms lowest terms



4) 0.955 5) 0.221 6) 0.129
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We can wrétg We can wréts We can WFI’[S

0.955 = 1000> Meaning 0.221 = 1000 Meaning 0.129 = 1000 Meaning
995§5thousandths 221 thousandths 129 thousandths

1000 can be reduced, since
5 is a factor of both 955

L, 000 g4

1000 ~ 5 — 200
The fraction is now in
lowest terms

7) 0.69 8) 0.171 9) 0.493
£ P 2 £
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69 11711 4193
690
We can write 0.69 = 1000’ We can wri1t$ 1 We can wrlifs 3
rg%%ning 69 hundredths 0.171 = 1000° Meaning 0.493 = 1000 Meaning
1000 can be reduced, since 171 thousandths 493 thousandths

10 is a factor of both 690

aé;éjol’ 0T 6o

1000 * 10 — 100
The fraction is now in
lowest terms



